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Level 1 - Grundlagen - Blatt 1

Losung Al

fi(x) =3-e* filx)=3-¢€*
1 1

f2(x) =§-e" (%) =3

f3(x) =3-e* ff(x)=6-e*

fa(x) = %% -2

fiG) = €05

fi() = a-ea”

fi() = ed

1
fe(t) = E-et

1
fe(£) =3 et

fo(£) = a? - eV2

Losung A2
fi(x) = (4 = x)(e>* - 2)

f7 () = a?V2- eVt

fi(x) =(11—-3x)-e3* +2

fLr(x)=3- 2x2)< e* + 3x)

f2'(x) = —4x (%ex + 3x) + (%ex + 3) -(3—2x2)

f3(0) = (x** = b)(e*™ - ¢)

fL(x) = 2a-x2971. (e2%* — () + 2ae?** - (x2% — b)

fo(x) = e* - (—4x?% + 3)

fi(x) = —8x-e* —4x?-e* +3e* = —e* - (4x? + 8x — 3)

fs(x) = 3e** - (1 —e*)

fe(x) = 6e?* — 9e3% = 3e2¥(2 — 3e¥)

fe@® =(@+1)-(t—1)-e*

fo@) =2t-e?t +2e?t - (t2 — 1) — 2e2t =22 (t2+t - 1)

f7(t) = e3t + 2t — et

Losung A3
fi(x) = (12e — 5)(1 — 3e¥)

f7(t) = 3e3t +2e?t —et = et - (3e?t —2et — 1)

fi(x) = —3e*(12e — 5)

fo(x) = (2e*+1)(3e* + 1)

£y — 122t
f5'(x) = 12e* + 5e*

f3(x) = e** - (3e* + 10)

£70r) — 5e®x (352% | gy
f1(x) = 5e** - (3e* +8)

fa(x) = 0,5e* - (2e — 4e?)

fi(x) =0,5e* - (2e — 4e?)

fs (x) — 462x+5

FLey = B2t
f(x) = 862+

fo(®) = (5x° —2x) - e7*

fe(t) = —e™™ - (5x3 — 15x2 — 2x + 2)
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